Efficiency vs P,

T

[ A | R TR R E R R R PEEEEECEEEEEE EREEEEEEEEEE
0 3 : : :
> L :
> N < : :
2 @ : :
SEOK: | IR AR oo s
o B . . .
E r = : :
o 3 : : :
0.6~ rggerrinrereeees Broneeeees o
R L i
02w TN S
[N ST EEPPTA® P S
= . :
a4 .

107 1 10 prT (Ge\})o3

MKEIT_T 1base
mKFit_TT_retrainOldFiles125_v2_prelimWP_5iter
mkFit_TT baseline_6iter
mKFit_TT_RetrainV2_WP1_6iter

0004
lelelele
<4

0.8

0.7

0.6

efficiency vs n

0.5

TTTT
-
-
-0
-
-

Ratio

o 0.8

o
3

etficiency vs

o o
[$)] (2]
TTT |,.. LERAN BRAS)

o
N
1

..................................................

©
w
I




	Contents
	Page 1


